EARAZROREIERT — 2 N—XBISY —F 201755821 (H) 2M@ER5H

m C2+=# 7% ‘ (Xfg] B ‘ [REmshE] — | & (B) 12000 B
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.= TIPSt . - — EREAGAE (B%FE
1 - AL 8RS s I P | amEn
RFFHRTFLT BRTYLITTIAL HET7—L
P = a7 | AtFE 1:15.6 3-3 38.5| — 1 519 | W& (E&R)
o 7| IAERIT Y 6.0 @ e |BEE
XY T Mt —T7—K=K BN¥/F1T72LT =1 S
N . =HATE : — - 2E— (KR)
kY © IR P i 6 5.0 1(/1\5-,‘—? 2 o1 s (45; REEZA ’
L:TFvIk=9 B:EALXb=221L4 FOE R
¢ # 4 | ERRE 1:15.8 5-4 38.6| — 6 446 | R (B
4189 | V7TIER 54.0 ) (+1) | FIEREX
L:Nn—EPvy— BEILI-ILEKR SASS
SIS 4 6 | HER 1:16.5 8-8 38.8| — 4 457 | ZFHEE (KR)
EE 3| vy T7rAvR 56.0 () Gy | E TTxy b
LYW TIARE BV RT 1T b L5HITr—L
ROf— 16, N 4| - IR (KiR)
6111 2y F 4 o 1(71?:;5 3-4 39.4 2 (4_617) %EE%
L:hrn=—— B:RFyTavh =Y Ty—L
a1y — 45 | IABER 1:16.8 7-6 39.1| — 5 466 | /INEEIE (%)
7155 b—=3—UN=2X 56.0 1 1/2) ) | FEEEA
L:N—E>Vv— B:RAT5474—X J=HrTr—L
ST B4 | ANHIBE 1:17.2 9-9 38.8| — 9 41 | BRES] (OKR)
sl 4|3V INY 54.0 2 1/2) 3 | ) A=xrT
R:7viIs5—L B:H—FI> I AL B%S
s= g /R :18. - . — #HER (KR)
9/8lg| R—KZF>/N=} R e ) 1 (178)3 M ! <4+820) 14 AREEA
RFA—TALNT N BT e X% vy b FATAT7— L
® I—F—@EBIERL
13—-7-
23—7F—
3T—7— 6,2,(1,7),9,8,5,3,4
43—+ — 6,2,7,(1,9),5,8,3,4
[ RN
B 6 430 794K 6-7 230M % E 6-7 450 &R 2-6-7 4,650
# B 6 160 2-6 1,750H B E 6-7 4108 EE 6-7-2 16,980
7 130 2-7 1,230H B H 6-7 1,140
2 5704

ABICOVWTRDTEEERROODE. TR LIV,



